Comp364 Lecture 27 March 12th 2008
-HW 3 is due this Friday, late by next Monday;

-Today: Tips and Hints on HW3.

·Tips and Hints:

1) How to debug your program?

Print out your variables at intermediate stages so that you would have an idea which step causes the problem.

2) Question 2 in HW3:

a) Remember to chomp the inputs (i.e. chomp the yeast genes in two lists).

b) Try to produce genes without space characters:

Tow methods:

(1) $Line (from file)

$Line = ~/[A-Z0-9]+/;

This command gives rise to $Line that contains genes without any space character.

(2) Use “\w”: “\w” matches any letter (either lower or upper case) and any digit. 

So “$Line = ~/[A-Z0-9]+/” is equivalent to $Line=/ \w+/;

c) Recall that we can use “$&” to print out the matched part.

3) Question 5 in HW3:

How to solve the frame-shift problem with codons?

Here is a sequence: ......AUG…
In last class, we used =~/^(…)*AUG/ to avoid frame-shift. The only problem is that once we use “$&” to print out the matched part, it gives the whole string up to AUG, which is not exact what we want.

Global Matching and the use of “join” is another solution:

Given a sequence:    AATTACCGAGAG

@A=$Exon=~/…/g;
@A becomes: AAT TAC CGA GAG
Use join to insert a “#” between each triplets

$ExonB=join (“#”, @A);

So $ExonB becomes: AAT#TAC#CGA#GAG
$ExonC=”#$ExonB”;

So $ExonC becomes: #AAT#TAC#CGA#GAG
If now we want to match for TAC,CGA, we can use:

if ($ExonB=~/TAC#CGA/) {

  print "ExonB matches!\n";

  }
·Interaction between () and Global Matching

 1) The global matching returns only the match between ().

For example:

  Given a sequence: AAAAUGTAA

    If we type:  /AAA(AUG|ATT)TAA/g

    The program gives you only AUG.

Another example:

  Given a sequence: AAAAUGTAAAAAATTTAA

  If we type:  /AAA(AUG|ATT)TAA/g

  The program gives you only (AUG, ATT)

2) How to circumvent this problem and get the whole thing?

  ( Use “?:”
  If we type:  /AAA(?:AUG|ATT)TAA/g

  The program returns the complete sequence.
